




















Find the Missing one  (?)

12 : .36 :: 108  : ?

(A) 32.4

(B) 3.24

(C) 324

(D) 81



Find the Missing one  (?)

FANCIER = 09051803060114 

MAESTRO = ?

(A) 20011519131805

(B) 15181519130120

(C) 20181519130105

(D) 20181319150105



Find the Missing one  (?)

JUMBLE = 308439063620 

RATTLE = ?

(A) 460636360540

(B) 603620200460

(C) 540460603620

(D) 460636365404



Find the LAST Missing one  (?)

LUCK = L2U1C3K1 

XEROX = ?

(A) 4

(B) 3

(C) 1

(D) 2



Find the Missing one  (?)

(A) 25

(B) -1

(C) 14

(D) 6

16 4 11

23 9 ?

44 5 13



Find the Missing one  (?)

(A) 54

(B) 95

(C) 84

(D) 108

2 5 6

6 4 3

4 1 7

3 2 5

60 48 ?



Find the Missing one  (?)

(A) 55

(B) 54

(C) 53

(D) 25

18 32 14

32 ? 23

51 63 12



Pointing to a man, Sudha said, “The mother of that person is
the mother of my mother”, then how that person is related to
Sudha?

एकआदमी को इंगित करते हुए सुधा ने कहा, "उस व्यक्ति की मां मेरी मां की मां
है", गिर वहव्यक्ति सुधा से कैसे संबंगधत है?

(A) Husband (B) Uncle

(C) Wife (D) Son



Pointing to a man a lady said that his father-in-law’s father is my

father-in-law, then how that lady is related to that man?
एकआदमी को इंगित करते हुए एकऔरत ने कहा गक उसके ससुर के गिता मेरे

ससुर हैं, तो वह मगहला उसआदमी से कैसे संबंगधत है?

(A)Sister (B) Mother-in-law

(C) Son-in-law (D) Daughter



In a row Ajay is 19th from right and 24th from left. Then

what is total no?
एक पंक्ति में अजय दाएं से 19 वें और बाएं से 24 वें स्थान पर है ,तो
कुल संख्याक्या है?

(A) 21 (B) 32

(C) 10 (D) 42



In a class of boys and girls the position of Ram from left hand side

is 26 and the position of shyam from right hand side 18 they are

interchange there position. After interchange the position of Ram

from left hand side is 30 then what is the position of shyam from

right hand side.

लड़कों और लड़ककयो ं की एक पंक्ति में बाएं तरफ़ से राम का स्थान 26 है
और श्याम का स्थान दाएं छोर से 18 है, वे अपने स्थान को प्रकतस्थाकपत

करते हैं । प्रकतस्थाकपत करने के बाद बाएं हाथ से राम की क्तस्थकत 30 है तो
दाकहने हाथ सेश्यामकी क्तस्थकतक्या है?

(A) 22                         (B) 24

(C) 27                         (D) 28



In a class of boys and girls the position of Ram from left hand side

is 26 and the position of shyam from right hand side 18 they are

interchange there position. After interchange the position of Ram

from left hand side is 30 then what is the position of shyam from

right hand side.

(A) 22                         (B) 24

(C) 27                         (D) 28



Find the Missing one  (?)

42 : 54 :: 56 : ?

(A) 18

(B) 64

(C) 72

(D) 90



How many persons can speak Marathi and Telugu both?

(A)  10                    (B) 11

(C)  13                    (D) None of these

ENGLISH

HINDI

MARATHI

TELUGU

4
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2



How many persons can speak only English?

(A)  9                          (B) 12

(C)  7                          (D) 19

ENGLISH
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